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(1) sina>sin g >sin30°

. oo 13
(2) sina>sin30°>sin g ; 5 5
(3) sing>sina >sin30° a I

(4) sing>sin30°>sina 4 12

(5) sin30°>sina >sin g

2. Z2RH A5 AH B U BE AB,C,D > A1 B AB-AC = AB-AD - 3 ¥ il F e K 3 7 -
(1) AB-CD=0
(2) AC=AD
(3) ABE1CDY f7
(4) AD-BC=0
(5) AB.C.DII%:{EH — Vi -

3. WE AT R > ORIENER ZH 0 - SHE NI E F E Y48 P % {E AODE A
(AEBH) ?
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(1) OP=0C+ OF
(2) oP=t0C+ L0F

2 2 . -
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(3) oP=-*0Cc+ LoE

4 2
(4) OP:%OC—%OE Y %

(5) OP= -=0C— = 0E
4 2
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(1) 1 f& (2) 4 {H (3) 6 fd
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6. BB — NIRRT W
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1 1 2 3 5
(D) 3 (2) 3 (3) 3 (4) 2 (5) 5

o BB Y B B ab o 5 4 ZE log(a®)+logb >1
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7. EPE L RBEN y=—3x" - AW P.QE| F BB EE S R 1o ORI P A
Ry (cosO,sin®) - 3 [ B Q A4 K By ] ?
(1) (cos(-9).sin(-0))
2) (
3) (
(4) (—cosd,sin(-6))
(5) (

—c0s8,sin )

cos(—6),—sin )

cosd,—sin o)
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(B) Wl {5k 2 — > "l 15 5 4% Lo R E R R E e > AT3R 1S 200 T
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(A) = EBEE R o B & &R EE
(B) = {8 eh /N P 210K B 55 72 851
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B gE Ry (] 7
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OP- 00 {1 B £ & 2 1y 15 18 -
(1) 23 (2) 23 (3) 0 (4) -2 (5) -4

10. 2 B 22 A f(X)=3x" +11x* -4 » =% 3% 1 FE Ay g -
(1) y=FfOHE A y @l s BHY y LEE/NFY 0
(2) f(0)=0F%F 4 {(#5F MR
(3) f(=0x"VAH—{EEHR
(4) f()=0F—Ms i 08 1 Z[H
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1.3 a,b,c £ &H # H /i }& loga=1.1 - Sl BE Y ERERY BEIE -

(1)
(2)
(3)
(4)
(5)

logh=2.2 ~ logc=3.3 -
a+c=2b

1<a<10

1000 < ¢ < 2000

b=2a

a,b,c il % bt 1 %1

TEERE 2011 £ 2018 FIHEEIHHE A DB R E A DRV E 77 A B8 B o
FEEOHAOLLANRE - AEZMT Ast > AEDIE NG > fla1 2011 5 d8

EAOER 1,070.9 B A > 65 L EBEMEEMFEAOLE 69.1 T A - AREFR
MER EH IEEREEIE -
PEEAC BT N O EE R 7

- Y2 | ] Efﬁ% iiﬁf 39 BT | 404985 | 50-64 7% | 65EELL I

(B C#0) (F ) (+A) (+A) (0 (FA0
2011 5 | 1,070.9 54.2 386.3 67.6 85.4 164.2 69.1
2012 4F | 1,086.0 54.4 394.9 67.5 87.0 169.5 70.9
2013 4F | 1,096.7 54.4 391.5 66.6 83.9 171.3 69.7
2014 %F | 1,107.9 54.8 391.2 65.8 79.8 173.0 72.6
20154 | 1,119.8 55.5 403.1 71.7 76.9 181.3 73.2
2016 5F | 1,126.7 55.7 404.5 77.4 77.4 176.4 73.3
2017 4F | 1,135.2 55.7 405.1 73.9 78.1 178.3 74.8
2018 4 | 1,143.4 56.1 415.1 72.0 78.8 184.9 79.4
(1) #& 2013 =2 2018 4 > 65 gt LA 0y 5B M B ¥ ut £ A O & 45 I8 1
(2) 7€ 2013 2% 2018 4 > 50k £ 64 gk 2 EMEEEFE A DR FE IR
Q) LExEFhF F—FNEMHEREEREANOLSEAMREAONERLNAETZAH
(4) EF=dH F—F 50 5%E 42 BHREREANAOHL DN 49 KU TZH

MEFEMEAO

(5) FL 65l L BHREBERFEALMS > 2018 F£LE 2011 FFEH N T A 2] — & A
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(1) BC>0C

(2) AOBC % B = fi ¢

(3) AOBCHY [A f& K J* AOAB HY [H] f&

(4) ZCAB=30° A
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CEHEBa AERINEZRII A nIH MR S=

1_ n
ETE B a0 4 EE B r(r ) 69 % L B AT nIE 2 A B s;‘“‘(l_rr )

2. =AW A R AN ¢ sin(A+B)=sin AcosB +cos Asin B

cos(A+ B) =cos AcosB —sin Asin B
tan A+tan B

tan(A+B)=—————
1-tan AtanB

3 _ D _ C _oR (R BAABCAHMEE LK)
sinA sinB sinC

AABC My gk iz 3 : c¢®=a’+b?—-2abcosC

3. AABC 1y IE 5% & B

4 R XXX BT B = O k) =S 3
i=1

B oy = [T - )’ =J%[(ixf)—nuxzj

n

Z(Xi — 1 )Y — #y)
5. ZHEREE (XY) 100 Y (% V) (X Yn) 0 HH B R B, ==

no, oy

HEES (REEEK) HERX y—uy=rx,YZ—Y(X—ﬂx)

X
6. 2 E ¢ J2~1414, 3~1732, J5~2236, 6~2449, 7~3.142
7. ¥ % {#E * log,2~0.3010, log,3~0.4771, log,,5~0.6990, log,,7~0.8451
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